. Your
score

RAFFLES GIRLS’ PRIMARY SCHOOL out of
SEMESTRAL ASSESSMENT (1) 100
2010 marks

Class Level

Zm.mws : index No: ____Class: P 6___ Highest -
_ score
Average
7 May 2010 SCIENCE Att: 1 h 45 min score |
- . ‘ ‘ ) . Parent's
signature

SECTION A (30 X 2 marks)

For each-question from 1 to 30, four options are given.
One of them is the correct answer. Make your choice (1,2, 3 or4).
Shade the correct oval on the Optical Answer Sheet (OAS).

1. The diagram below shows the life cycle of an animal.

egg

adult ) . | nymph

Which of the following animals go(es) through the life cycle as shown
above? A

A frog
B butterfly
C mosquito | .

‘D grasshopper

(1) ,Doxn_w (2) BandConly

(3) CandDonly -(4) A/ BandC only
page 1 of 45 \
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2.

Sam described his father, mother and his physical characteristics below.

| ?»rm.,

has dimples

has no widow's peak
has short nails

has short hair

has detached earlobes

mother

+ has dimples

« has widow's peak

« has fong nails

= has long hair

« has attached earlobes

¢ has ho dimples”

¢ has widow's peak

¢ has long nails

+ has short hair

« has detached
earlobes -

gam

Which of the following traits did Sam inherit 33 his parents?

1)
@
3)
@)

dimples and long nails

widow's,8ak, long nails, short hair and detached eatlobes

——

page 2 of 45
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3. Parts X and Y of a flower are shown in the diagram below.

Based- on the diagram above, which one of the following pairs of
statements about X and Y is true during the process of pollination?

X Y
) male part of the flower where female part of the flower where
pollen grains are transferred to | pollen grains are
@ male part of the flower where | female part of the flower whete
pollen grains are pollen grains are transferted to
3) - | female part of the flower where | male part of the flower where
pollen grains are transferred to | pollen grains are
) female part of the flower where | male part of the flower where
pollen grains are polien grains are transferred to
page 3 of 45
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Sally carried out the following mﬁwm to find out how plants grow under
certain conditions.

Step 1 . She filled five flower pots made of the same material
but of different sizes with the same amount of garden
soil,

Step 2 : She planted the same number of the same type of
seeds in each pot.

Step 3 . She placed the pots side by side in the garden.

Step 4 : She watered each of the pots with the same amount

of water daily.

Which one of the following could possibly mm the aim of Sally's experiment?

Sunlight is necessary for photosynthesis.
\Vﬁ .oﬁaa..o,_a&:n affects healthy n_ua growth.
J8f Water is necessary for healtty plant growth.
_MY"  Garden soil is necessary for healthy plant growth.

page 4 of 45
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5.

The diagram below shows the hurman digestive system.

At which parts of the digestive system are digestive juices produced?

(1)
)
3)
4

A B, C
A G D

'B,D,E

C,DE

page 5of 45
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8, On a morning run, Henry ran up a hill, rested for 15 minutes at the top of
the hill and ran down again.
He ran at a constant speed. The duration of his run lasted for 40 minutes.
Which one of the ﬁo__oé_:u graphs could possibly Bnamma Henry's pulse
rate during the 40 B_:cnmmu
(1) ’ (2)
e =
st €4
& &.
@
& %
D
= )
L) 2
o i
[+}] O
@ R7
3 o
] Laa L
0 40 Time 0 40 Time
{min) . {min)
(3) )
=) €
m A m &
a. 8
a 82}
3 2
O
& &
8 8
3 - @ -
0 40 Time 0 40 Time
{min) ) {min)
i
_
|
|
m
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The diagram below shows parts of a plant.

Which one of the following gives the correct functions of the parts P, Q, R
and S in the diagram above?

(1)

@)

3)

(4)

P Q R ot §
attracts . :‘msm_omzm —
animals to help | food, water holds plant takes In water
; . fimly tothe | and mineral
in seed and minerai round N galts
dispersal salts g
contains water | holds plant | takes in water Momm%m.mwﬂw__
and mineral | firmlytothe | and mineral ?_um mxom._ ange
salts ground salfs of gases
takes in water . holds plant MM.MMM to hel
and mineral | makes food | firmly to the n sod e
salts ground di

ispersal
. . allows
contains seeds . takes in water | gaseous
for WM&WM% and mineral exchange
reproduction salts during .
’ photosynthasis
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The diagram below shows the flow of substances, X and Y, within a plant.

)

(3)

4

Key

.

———¥ direction in which X moves

--~--~-4 direction in which Y
moves

} :

shows the movement of food
and mineral salts

| shows the movement of air

shows the movement of mooa..

shows the movement of water
and mineral salts

shows the movement of air

shows the movement of wooa
and mineral salts

shows the movement of water
and mineral salts

shows the movement gf-food
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9.

The diagrams below show four different types of cells,

Based on the diagrams above, which ane of the following is a correct
classification of these cellg?

(1)
@)
(3)
(4)

animal cells . | , ..v_.mzn cell(s)
Aand D BandC
Band C . AandD
Cand D A and m
A, BandC D
page 9 of 45
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Tom's teacher told him that limewater turned chalky in the presence of
carbon dioxide.

Tom used two similar plants in different set-ups, A and B, as shown below,
to find out what would happen to the limewater.

box made of box made of

material X

delivery tube delivery tube

material Y _

.,

- [imewater

limewater
- flagks .

set-up A

Tom placed both set-ups near an open window, After a day, he observed
that the limewater in set-up A remained colourless. while the limewater in
set-up B had turned chalky.

What could possibly be the materials of X and Y?

mm».m.u A set-up B
(1) wood T cardboard
" (2) cardboard . frosted glass
@) wood clear glass
4) clear glass - - . _ . wood
W
 page 100f 45
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11, Sandy set up an experiment using the apparatus and similar type of
goldfish and aquatic plants.

She sealed each set-up with a clear plastic wrap and placed them in a
roomm under lights as shown in the diagrams below.

———— lights

\n_mm_. plastic wiaps

I

- T s goldfish
e = &

. A aquatic
mmmxm.. A Beaker B plants

‘Beaker G-
Sandy recorded her observations of each beaker as follows:

Beaker A All the fish died on day 1.

BeakerB  Allthe fish died on day 2.

Beaker G  All the fish died on day 3.

Which of the following could be the likely ammo:@ to explain why the fish
in Beaker C died on day 37

A More space was available for the fish to take in oxygen.
B More water plants were available to provide oxygen for the
fish. " .

Cc Rate of photosynthesis of plants was greater than rate of
tespiration of plants and fish:

_u mmﬁmoﬁﬁmmﬁm_.mmo:omv_mamimmmqmmﬁmq..%m:_.mmmom
respiration of plants and fish. .

(1) AandDonly (2) BandConly
(3) CandDonly (4) A, Band Donly
page 11 of 45
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12.  The diagram below shows the types of plants, A and B, found in a pond.

decreased.

Based on the information above, each of these pupils gave his/ her

explanation.
Joshua :  Dissolved oxygen cannot reach plant A.
Jenny . Less light reaches the deeper parts of the pond. -
MeiYin :  Less nutrients are found in the deeper parts of the pond.

*

Mustafa:  Plant A competes for space in the deeper parts of the
pond.

Which one of these pupils gave the most likely explanation(s)?
(1)  Jenny only |

(2) Joshua only

(3) MeiYin and Mustafa only

(4)  Joshua, Meiyin and Mustafa only

page 12 of 45
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13.  The following food web shows the food relationships among some
organisms: A, B, C, D, E, F and G.

!

Which one of the following describes the roles of these organisms

correctly?
. both a
a food , o . :
, a predator a prey only predator
producer L and prey
(1) A C b B
2) B A ¢ D
(3) G C E ) F
page 13 of 45
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14.  Which of the following statements is/ are true about decomposers?

A . They cause decay.

B They feed on dead matter.

-

C They are all microscopic organisms.

(1) Aonly | (2) AandB only
(3)° Band Conly 4 A BandC

15.  Fish have structural adaptations which help them to move in water.

Which of the following are structural adaptations which help the fish to
move in water?

A Their tail fins enable them to propel forward in water.
B They move close to the water surface to take in oxygen.
C  Their gills help them to take In dissolved oxém_._ in the water. ~

.D They have streamiined hodies to overcome water resistance.

(1) Aand8 only @)  Aand D only
(3) B, CandD only (4 ABCandD
page 14 of 45
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16.

The table below provides some information on three different types of

arganisms, X, Y and Z.

organism information

X + feeds only at night
¢ feeds on small animals

e has a weak stem

« insects help to pollinate its flowers

« lives in the hot desert
s walks on sandy ground

Which one of the following shows the correct adaptations of these
organisms, X, Y and Z?

(1)

2

@)

(4)

X Y ) Z
« hasacurved |« has needle-like has padded
beak leaves feet
e hashollow . |e bhasaswollen | swealfs very
bones stem little
+ has good night ‘ _Jmm thoms on has sharp
- ) its stem e
vision claws
o hasholow |° 1S sweet drinks a lot of
T smelling .
bones L water
flowers
¢ has sharp + has brightly drinks and -
ol urinates very
claws ‘ coloured little
. ~ flowers
‘ :.m § 900¢ night _— has padded
vision » has tendrils-
: feet
¢ hasa . ¢ has small dull- swealts very
streamlined .
- coloured little
body a |
oWwers
« has shar has webbed
P « has tendrils feet .
claws

page 15 of 45
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Ali abtained an equal amount of water sample from the different um:m of the
river, W, X, Y and Z, as shown i the diagram below.

The arrow (~— ) shows the direction in which the water in the river flows.

factory

Ali put an equal number of duckweeds into each water sample and
recorded his absetvations in the table shown below,

water :
samiple number of -niutnber of
taken from | appearance | duckweeds at the | duckweeds after 6
different of water beginning of the days of
parts of experiment experiment
river
W clear 15 28
X clear 15 25
Y | chaky | 15 8
2 muddy 15 0

What could Z._...oo:o_cam from his observations?

B Water samples from parts W and X of the river were harmful
E the duckweeds.

B> Water sample from part Y of the river was more poliuted than
water samples from parts W and Z of the river,

C Water sample from part Z of the river could possibly be the
. most poliuted.

_u,.ﬁmmmoammmoa":mﬂm::mmmoﬁma oo._kémﬁmﬁ.mm:,_vmmm:_umn{‘
of the river. o

A and D only
B and D only

1y C ocq (@)
~(3) Band Conly (4)
L page 16.0f 48 o
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18.

A group of pupiis during a beach clean-up event found lots of rubbish along
the beach.

Rubbish was sorted into two separate trash bags as shown below.

rubber boots .

glass bottles
dead plants

empty aluminium cans

cardboard boxes

bagA o bag B

Which one of the following shows how these pupils sorted the rubbish?

hag A _ bag B
g items that could be recycled | items that could not be recycled
g | items that could decompose tems that could not
. decompose

) | items that were biodegradable items that were

. non-hiodegradable
(4} items that could cause items that could ot cause

land poliution land pollution
page 17 of 46
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19, David used four different types of strings of equal length and thickness for
his experiment.

The diagrams below show David's observations of the effect of the different

mass on each string.

14 cm

—“ 40049

14 cm

600 g

The diffsrent mass attached on each string was the maximurm weight that

each string could bear before it snapped.

Which ane of these strings is made of the strongest matetial?

vy
¥4
e/
#)

String A
String B
String C
String D

20.  Substance H melts at 15 °C and boils at 110 °C..

At which one of the following temperatures is substance H a solid?

KRS

10 °C
40 °C
65 °C
125 °C

page 18 of 45
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21.  The following staternents show the different phases in the water cycle,
However, they are NOT arranged in the correct sequence.

A
B
C
D

_ E

Water vapour rises and cools.
The clouds become heavier and heavier.
Rain falls to the earth.

Water evaporates from the seas, rivers and living things,

Water vapour condenises to form stmall droplets of water,

Which one of the following shows the correct sequence of the water cycle?

page 19 of 45
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22.  Diagram 1 and Diagram 2 below show a gir sitting niear a qmm at 2.00pm

and

-noon respactively.

ol
wva X sun
L

.“. g

Diagram 1

ik

rod

Diagratn 2

Based on the diagrams above, which one of the following mﬁmﬁmamﬂm i8
NOT a correct inference about shadows?

M

@

()

)

Bath the tree apd the m:._ block ﬁm light rays and thus create
shadows.

As the sun rises from morning to noon, the shadow of the-tree gets
shotter, ’ .

The length of the m._..mn_oﬁ of the tree is longer than the shadow of
the girt at 2.00pm.

The shadaw of the girl will not be formed as all the fight rays from
the sun is blocked _u< the tree,

page 20 of 45
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23.

The graph below shows how the temperature of water in each of the two
beakers, X and Y, changed over time as the water in both beakers was
heated from Point A to Point B.

temperature of water {°C}

0

Key

temperature of
water in
beaker X

temperature of
water in
heaker Y

time in minutes

k J

Based on the graph above, which one of the following mﬁmﬁmamnﬁm interprets
the graph correctly?

1
3)

A Both vmmxma of émﬁmq were heated at Em same time.:

B Beaker X was heated over a stronger flame than beaker.

¢ Beaker Y was heated over a stronger flame than beaker X,

D The temperature of water in beaker X took a longer time to
_reach its boiling point.

E . The ﬁmanm_.mﬂ_.:m of water in beaker < took a longer time to
© reach its boiling point.

A and D only

A, B and E only

page 21 of
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24.

The diagram below shows the various components of a circuit.

power
supply

g

¢ WL

power
supply

Which of the switches should be left open and which should be closed so

that ONLY bulb W lights up?

switthK | switehL | switcht | switch N
) open | closed | oum: open
2) open cloged closed closed
(3) closed open closed closed
(4) closed open - open open
|
page 22 of 45
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25.

M

)

(3)

4

Diana connected four different circuits, W, X, Y and Z, using a combination
of identical bulbs and batteries. She recorded her observations of the
buib(s) each time she closed a different circuit,

Her results are shown in the tabie below.
A tick { V) in the box below shows the observations made of the bulb(s).

observations of the bulb(s)
notlighted |  dim bright brightest

WA
X
z L J |

circuit

Which one set of the circuit diagrams below shows the correct connections
of each of these circuits W, X, Y and Z2?

clrguit W clreuit X . clreult 2

)
e,
—

page 23 of 45
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26.

Tom had four magnets of the same size, W, X, Y, Z, which were hung by
strings of three different lengths.

A plastic tray filled with evenly spread out iron paper clips was placed
directly below the magnets as shown below.

strings

strings —1

Tom observed that each magnet attracted a different number of paper clips.

Which one of the following observations made by Tom is definitely true? .
(1)  MagnetY is the weakest, - ,

(2) Magnet X is as strong as magnet Y. ;

(3) Magnet Y is stronger than magnet NU,M

(4)  Magnet Z is stronger than magnet X, '

i

page 24 of 45
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27,

An iron bar, G, umom_.sm a temporary magnet after a permanent magnet had
stroked it many times as shown in the diagram below.

G

The itoti bar, G, was left to hang from a pole with some other bars, E, F
and H, as shown below.

;i
w

- —_—
The arrow below each specified bar shaws the direction in which it moved.
| Which of these statements about the cm_,m are ammzzm__.x true?
A BarF is a magnet,
Bar E is made of a magnetic matetial.

B
C - The magnetic m:mnmm._.om Bar G is weak,
D

Bar H is made of a non-magnetic méterial,

(1)  AandBonly : | (2) CandDonly

(3) A,BandD only (4) A, CandD only
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28.

29.

The graph below shows how the lengths of two springs, A and B, are
affected by the mass hung on each of them.

fength of spring {cm)

0 mass hung on the spring (9)

Which of the following statements about the graph isfare true?

A The original length of spring A is _o:@ﬁ than the original
length of spting B.

B For the same amount of mass r::@ on Em spring, muz:m A
~ extends more than spring B. -

0 Gravity acts only on the mass hung on the m%smm but not on
the springs.
(1) Aonly (2) Conly

(3) AandBonly 4) AandConly

John threw & ball at the Em__. . _ .

<<zosonmoismﬁo__osmsmmmmﬁmo:oammmm_ﬁ:mz.mﬁma.srm:._o:i:qmi
the ball? )

(1)  Aforce can stop a moving object.

(2) - - A force can make a stationary object move. -

(3) A force can change the speed of a moving object.

(4) A force can change the direction of a moving object.
page 26 of 45 .
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30. The diagram below shows the path of the bali travelled when it was kicked
during a soccer game.

Points W, X and Y are the different positions along the path of the :m<m_=:m
ball. Co. :

Which one of the following graphs shows the correct amount of force of
gravity acting on the ball at points W, X and Y?

(1) . @ 4

Force of gravity {N)

Force of gravity (M)

w XY

w X Y position of ball

position of balt

@ T ..; T . (4) A

Force of gravity (N}
Force of gravity {N}

W X Y w X Y
position of ball uongoq., of ball
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Index No : Class: P6

—_—_

Name :

40

SECTION B ( 40 marks)
For questions 31 to 44, write your answers clearly in the spaces provided.

The number of marks availablé is shown in the brackets [ ] at the end of each
question or part question.

31.  The classification chart below shows how some living things are being

classified.
Living e fem
things e moss
4 i :.O
Coes it make
. 4 ves yes .
its own food? ——o—» P »| * waterlily
* JIOSe
. Do -
- A4 : ) Group 1
Does it move yes | Isit yes »| Does it lay yes o
from one warm- eggs? |+ eagle
place to blooded? e parrot
another on its : ne
own? : Group 2
. no -
"l . giraffe
.o  whale
* mushroom
= mould -
‘1
Does it give
birth fo its : Group 3
young alive? |vyes .
"l * guppy
e shark
no
r
. G 4
) Does ithave | yes roup
scales? <TR snake
no o lizard
‘ A
Group 5
s frog
e toad
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Based on the information on page 28, answer the questions below:

(a) - [l

Question

(b) State a common characteristic between animals in group 1 and group 2,

[t

(c)  The platypus is described as an animal with the *oﬁ_oi:@
characteristics: :

e is warm-blooded
« does not give birth fo its young

Which group does the ‘platypus’ belong to? :
Write number 1, 2, 3, 4 or 5 only. . [11

i
Group _

W

Page 29 of 45
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32,

Cell Y |

N e
DR
t.q.\tf ¢

(a) State the process as seen in the diagram above.

.\.

The diagram below shows two types of reproductive cells, Cell X and Cell Y.

Cell X |

(1]

o
!

(b)

State the reproduttive organs of human where Cell X and Cell Y are
produced. (11

reproductive organs of human

Cell X

CellY

|
M
._n\
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33.  In year 2000, Helen discovered and noted the locations where three species
of ptants, X, Y and Z, were found on an island as shown in Diagram A.
Helen returned fo the same island in 2002 and noted the locations of the three

species of plants again as shown in Diagram B.

(AN : T *
. \.1\*/ | \A..ﬁ,.\“ * S
Am\ | | & . e
N0 g% \ /*owooo* *
M N N
Sea . ~ Sea
Ummmqma_ A . : - Diagram B

Helen calculated the percentage increase for each species of plants between
2000 to 2002 and recorded her findings in the graph below.

A

Percentage increase of plants in

=
w
@
@
=y
2 +
type of
X Y VA plants

- When Helen returned to the same istand in 2004, tall buildings were built as
shown below: ‘

ey e [Key
\ﬁ\k.».*
’ / . plant X * |
e
* plant Y O
0 % 0
\€ 0.0% =* plant Z <
: ﬂo Y
i e A . - ”
building m
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Percentage increase in plants in

2 years (%)

Helen observed that there were more plants and they were growing
nearer to each other.
Helen calculated the percentage increase for each plant species from
2004 to 2006 and made a comparison with the old data on the graph as
shown below.

Key

D Data from 2000 to 2002

- ¥
V%, Data from 2004 to 2006

type of

(a)

(b)-

N%‘

plants

State the method of dispersal of fruit/ seed for each of the

following plants:

1

X

Helen observed that _uum:m X had been _,m_uan_cn_:m much better
than Plants Y and Z over the years of her observations and that
observation was even more significant after the buildings were

builf on the island.

Explain how W the buildings on the island could have mmmoﬁma

- the rate of reproduction of Piants Y and Zontheisland., 2] .
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34.

Tom set up the experiment below using the apparatus as shown below.

through it.

NOTE: A dialysis bag only allows some substances to pass

mixture of starch —
and glucose
solution

dialysis bag

iodine
solufion

in his experiment, Tom observed the colours of the mixture solution in
the dialysis bag and the iodine solution in the- beaker. He used the
jodine solution to test for the presence of starch. Brown iodine solution
turns dark blue in the presence of starch.

He also tested for the presence of glucose in the dialysis bag and the
beaker at the start and at the end of the experiment.
He recorded the results of his tests and observations in the tables

below.

Table 1: Test for starch

i

colour of solution at

1 experiment

colour of solution an
hour later

mo_cﬂ_os in ,%m?m.ﬁ
bag

white

dark blue

solution in beaker

brown

brown

" Table 2: Test for glucose

LR
v 2

IR RS presence of glucose
v 2 | at the start of

experiment

presence of glucose
an hour later

solution in dialysis
bag

present

present

solution in beaker

absent

“ present

(a)  Which part of an animal cell :mm..@\mﬂ?:mq function as the dialysis

bag?

_.

(1l

I
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Tom decided to place the iodine solution in the dialysis bag and the
mixture of starch and glucose sofution in the beaker as shown in the
" diagram below.

dialysis bag

A A beaker
iodine —— ummmmmmmmmmmmwmmwli mixture of starch
salution ”“”“”HHNNNNNW.\ and glucose
oINS T o mo_cm.e:

(b)  Predict the results of his test and observations in the tables
below. . . . 2]

Table 3: Test for starch

.| colour of solution at | colour of solution an
=:5| the start of - hour later
) .t experiment
solution in o
| dialysis bag » \
solution in \ __
beaker f

" Table 4: Test for glucose

presence of glucose | presence of glucose
at the start of an hour later
. experiment
solution in SRR S
dialysis bag
solution in
beaker
\.\\
v

" Page 34 of 45 : .
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35. The pie chart below shows the population size of each organism, P, Q,
R and S, in a certain community.

(&)  Write down a food relationship involving organisms P, Q, R and
S. . 1]
) ) ) f

{b) When the vouc_mno:. of oﬁmsmm.:_ S was E_vma out mchm:E by
a type of -disease, state the effeci(s) on each of the other
organisms. . 1]

Page 35 of 45 - o
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36.

The table below shows how some animals adapt to survive in their

habitats.
animal daptation how adaptation enables animal
%//// to survive in its habitat .
P has a long neck can eat leaves of tall trees
Q flies south in winter | gives animal warmth
R hibernates  can avoid food shortages in winter
. . can defend itself against its
S . :Wm sharp, m,:q quills enemies
T | v climbstrees can escape from its predators
U produces very litle reduces water loss from its body
sweat and urine

Based on the information above,

diagram below.

Write letters P

. Q R, S, T and U in the correct boxes ONCE only.

classify the animals given using the

3]

Adaptations of animals

structural

behavioural
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37.  The following flow chart shows how some matter at room temperature
are differentiated based on their properties.
matter
A &
no Is it visible? . yes
no Does it yes no Does it have a yes

- have a o . b definite shape? .

sfrong

smell?

A B C

Based on the information above, answer the following questions:

(a) Identify each of the following mattgr.
Write A, B, C and D.Ozom.oaww_. - . (2]

(i) - milk -

(i) - pebble

(i) oxygen - \

(iv) alcohol vapour

(b) A 1-litre bottle contains 900 cm? of matter A and 100 cm? of ofive
oil.
Another 100 cm 2 of matter A is added to the same botile.
What is the volume of matter A in the bottle now? 1

-

The new volume of matter Ais __ Am?. -
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38.  The diagram below shows a model of how desalination is carried out.

bent tube

stopper /

-

bofling tube ——

beaker

(a) Inthe table below, write down the process that is taking place at
Aand B. . . 21

process

B

(b)  Explain how the cold, Qm.::_v cloth that covers the bent tube helps
in the process of obtaining C in the beaker, [1]

(¢)  Identify the useful substances that are collected at the end of ;-

fr

this desalination process. 21/

*.

liquid C in beaker

substance left in the boiling
tube, D

—
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39.

The diagram below shows three objects, (A, B and C) each made of a
different material placed between a lighted torch and a screen.

B C

2 cm 2cm

Tom turned on the torch and observed the shadows of the different
objects formed on the screen as shown below.

screen

. Page 39 of 45 :
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(8) Tom used a datalogger to measure the amount of light nmmm_:o
through each of these objects A, B and C.

In the table below, identify the object that most :_6? matches to
each of the following readings from the datalogger.

1

reading from the datalogger
{Lux)

object

2000

13

1280

The diagram below shows three hoxes, X, Y and Z, of the same size
made of the same material, painted in three. different colours:#ivhite,

.blue and black.

A thermometer Em.m inserted into each box and all the _uoxm.m

were placed under the sun for one hour.

AP F

%@ M thermometers
S iy -
N -

Sun

box . box.:
X Y

box
Z

Tom .amoo_dma the temperature of each box in the table below.

box X

boxY

bhoxZ

wmaumqmﬁ:..m of

each box (° C}) 38

49

25

(b} What was the most likely colour of box Y? Explain your answer

R

based on the comparisons made with the other boxes.

{2




Time taken for the ice

cube to melt completely
{In minutes)

40.

ldentical ice cubes were each placed in sealed boxes (A, B, Cand D)
as shown in the set-ups below. Each box was made of a different

matferial of the same thickness.

bhox A - hoxB

ice
cubes

TN

TN

box C

box D

ice
1 cubes
L N

T IN

The bar graph below shows the time taken for each ice cube in each
box to melt completely. ,

Type of material

Based on the information above, answer the following questions:

Which one of these materials, A, B, C or D, is most suitable for storing

ice-cream?
Explain your answer.

2]
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41. In the diagrams below, a ceiling fan, a florescent light and a water
heater are connected in two different ways in a house.

(@ MARK a cross, {X), on the electrical circuit in Diagram 1 to
show the position of a switch that only causes water heater to
stop working when it is turned off. (Do NOT draw the switch.)

1
Diagram 1 ~ {power supply t

bathroom

Au

I\
 bedroom living room
Key
- m u ceiling fan
Diagram 2 §power supply
bathroom

fluorescent
light

AU o O water

_ heater
N C - -

bedroom living room

(b) Compare Ummmnmam 1 and 2.

~ Which is a better way to connect the florescent light, the ceiling
» fan and water heater in a house? Explain your answer. 2]




42. Jesse set up her experiment as shown below.

material X on table top material Y on fable top

AT T

set-up A set-up B

Key
<«——— Direction in which strong bar magnet moved. .

Jesse used the same equipment in both set-ups A and B. Only the
material put on each table top was different.

Jesse placed a strong bar magnet under each fable, ONE at a time,
and slid it in the direction indicated by the arrows.

She observed that only the box in set-up B moved while the box in set-
up A remained in its original position.

Jesse knew one of the reasons for her observations made was that the
box in set-up B was made of a magnetic material.

(a)  What caused the main difference in Jesse’s observations?

Explain your answer. . 2]

(b) Name a material that was used to make the boxes in both set- | . - S
ups. . Ml -

|

" .

SRR
e e

[P



Five identical blocks each made of a different material were pulied
across a concrete surface from Point X to Point Y, ONE at a time, as
shown below.

" block A

spring balance

force (pull)

X  concrete surface Y

The force needed to puil each block across the concrete surface was
measured and recorded in the table below.

material of force needed to move each block {N)
block
A 15

B 25
C 13
D
E

22
19

(8  Arrange in the correct order, the texture of the surface of the
block in the boxes below.

Wiite the letter A, B, C, D and E ONCE only. 1]

Y

increasihig smoothness

¢% Based on the information above, which material is most suitable
m,wu to be used in the construction of non-slip mats placed in the
bathrooms? . (1]

[
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44. The drag coefficient measures how well a shape “cuts” through air
resistance. The lower the drag coeffi o_m:M the _ummﬁmﬂ an object can
move against air qmm_mﬁm:om

The graph below shows the drag coefficients of two different shapes, A
and B

Drag Coeffletent

Type of shape
Based on the information above, answer the following questions:

(a) Puta tick () in the correct box below the ear that best .
represents shape B. 1]

(b) ANOTHER car, Z, of shape C, moved faster than car X but
slower than car Y. Suggest a possible drag coefficient of car Z
and DRAW the column of shape C in the graph above. [1]

(c) Name TWO OTHER forces which each car will experience when
it moves along a road. [y

— END OF PAPER -

Setters: Mr Vincent Chia, Mrs Martha John, Miss Lim Li Shan
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EXAM PAPER 2010

SCHOOL : RAFFLES GIRL’'S PRIMARY
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Ow Q21Q3|104]10Q5]|Q6] Q7 1 Q8| Q9 |Qi0]|011]|Qi2]013[qQ14 Q15| Q16 | Q17

Q18 [019 [ 020 Q21 Q22| Q23] Q24 [ Q25] Q26 | 27 Q28] 029 Q30

31)a)Is it a flowering plant?
b)The animals in group 1 and 2 both are warm-blooded.
c)l

- 32)a)Fertilisation.
* " b)X: testes Y: ovaries

33)a)X: wind Y:splitting Z: water
b)Plant Y and plant Z is not reproducing as well as plant X.
The building occupied some space on the island, leaving less space for
plants to be dispersed. The plants had to compete for nutrients, water and
sunlight.

34)a)The cell membrane.

" b)Table 3: brown, brown
white, dark blue

Table 4: absent, present
present, present

35)a)s>P>R->0Q
b)All the other organism would reduce in numbers.

36)struchural: PS U
behavioural: QR T
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37)a)i)C i)D iii)A iv)B
b)900cmz

38)a)A: evaporation B: condensation

b)When the sea water is heated, the water in the sea water will evaporate,
leaving the salt in the boiling tube while forming into water vapour, the hot
water vapour wiil then rise and condense on the cool surface of the inner tube
covered by the cool damp cloth, forming into tiny water droplets, which will
then flow into the beaker as C.

c)water , salt

39)a)2000: B

13 :C

1280: A

b)Box Y gains heat faster as compared to box X and Z. The temperature in
Box Y rose the fastest as compared to Box X and Z. It has the highest
temperature recorded as compared to the other boxes.
Black absorbs the most heat, causing the temperature to rise the

fastest.

40)The ice cube in D took a longer time to melt compared to A, B and C.

The ice cube in D took a longer time to melt as compared to A, B, Cas itis
the poorest conductor of heat, causing D to gain heat slowly.

L power supply
41)a)-

)

mE..ooE

b,

bedroom living room

b)The electrical circuit in diagram 1. It is because the florescent light, the
ceiling fan and water heater are arranged in parallel, allowing each of them to
have an individual circuit. Hence, if the fluorescent light light fuses in diagram
1, the water heater and ceiling fan will not be affected. However if the
fluorescent light in diagram 2 fuses, it will cause the water heater and ceiling
fan to stop working as they are arranged in series, hence diagram 1 is
arrangement is a better way.
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42)a)lt is because material X way be a magnetic material, this present
magnetism from passing through it , hence the box will not be attracted even
through it is an magnetic material. However material Y may be a non
magnetic material, this allows magnetism to pass through, causing the box to
be attracted and moved along with the strong bar.

b)Steel.

43)a)B, D, E, A, C
b)B

44)a)X
b)C |
c)Gravitation force and frictional force.

Prag Coefficlent

Type of shape
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